- Thu, Oct 31, 2019 MATH 450A

Quiz 7
Name: (print)

Each problem is worth 2 points. Show all your work |

1. Find the intervals I1, I on which f is either increasing or decreasing, and the correspond-

ing intervals Ji, J; on which the inverse functions g1, g, are deﬁned Find the expressions
for g1, 92 and sketch their graphs.
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2. Is the function f differentiable at = = 0: Af (z) = { 0 e 7
, T =

If ‘yes’ ﬁnd f/(0), if ‘no’ give a proof.

z . _L
JZG’ = 6‘ -57{/1"‘ #O
«/L-—-}’o L A - ' |
xﬁ,w&%a

Coee l% S - // /ﬂ/ /&__M

T(f,e/kc/é@rf; ]Z(’O) ex /T el s = O -
T por ga#wf-wé ot x=0) |

3. Suppose f : z — (z + 1)® and zp = 0 in the Fundamental Lemma. of Differentiation.
Show that n(h) 3h + R
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